CLASS : 10th (Secondary) Code No. 4803
Series : Sec. M/2020

Roll No. SET : D
o

MATHEMATICS
(Academic/Open)
[ &=t Tg SIS AT |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

TIT 3 g7 | [ §% : 80
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o FU g I T fF 3T FeT9F T FRT g 16 T
797 32 81
Please make sure that the printed pages in this

question paper are 16 in number and it contains
32 questions.

o Jo7-UF H e & # 3T /9 T8 FE TR oI G #H
B V-Gl & JE-J U7 g
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

o ZYY o7 F TV [0GT & FT G GEl, HT FH HHE
ST [1E]

Before beginning to answer a question, its Serial
Number must be written.
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(2) 4803/(Set : D)
o FTCYRTHE % T 7 @l g/ 9 T 881

Don’t leave blank page/pages in your answer-book.

o JUTyRTHE % GfaRFT #F o dic TE Al o
STETETFE & [E SiT forar Fav 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o GRS YT T To FIT-GF YT HFT [or@)

Candidates must write their Roll Number on the
question paper.

o YUY J97 F FT 37 @ {4 I8 GvEd B T [ JeTGH
g7 g @& 8, T # W 39 g9 7 FE 0 amr
@B T8 BT A

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G F3sT
General Instruction :
() &H 7T a8
All questions are compulsory.
(i) 5 997-97 4 F7 32 §o7 & ol [ G 7] I
F§TINTHICTE -
This question paper consists of 32 questions

in all which are divided into four Sections :
A B CandD:
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G &5 GF F1 716 7% ZT 16 F97 &,
g% F97 1 3% & &1

Section A : There are 16 questions from 1
to 16, each of 1 mark.

G §: 357 % F17 §21 T 375 J97 &,
JR% 797 3 9% F &

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G T : 39 G 522 §27 T FT 6 F97 &,
T9% 797 & 5% T &1

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 737 % 428 @32 T FT 5 F97 8,
J9% J97 5 31F # 81

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) @9 § T & go7i 7 oyi® Rwey [T 1@ &
37 @ Q& 797 & T 81

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.
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qis - A
SECTION - A

1. 0.12521%5%@1‘4‘%2!%%113

Express 0.125 in the form q

p

2. 3x% +4x+1% LI ¢©

(A)

(D)

1

-1, -=

1, <
3

3

The zeroes of 3x2 +4x+1 are:

(A)

(B)

©)

(D)

4803/(Set :

1

-1, -=

3
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3. 3x+4y=10FX x— y=1F & I 1

Solve :
3x+4y=10and x—-y=1

4. -9 T AN A.P. R ? 1

(A) -1.2,-3.2,-5.2, .......
(B) 2,5,7,9, ......

(C) 1,22%,3%2, 4% ...

(D) 3 § ®iE T

(A) -1.2,-3.2,-5.2, .......
(B) 2,5,7,9, ......

(C) 1, 22,32, 4%, ...

(D) None of these

Find the 11th term of A. P. -3, —%, 2, ... .

6. HICh § RU &) § | T& AKT H T4 HA 8, R

W B qRT : 1
IS B THA A aQ & 9gYS HEd 8 8, AR
B T BT .. & (SRR, gHTgR)
4803/(Set : D) P.T.0.
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Fill in the blank using correct word given in

bracket :

Two polygons of the same number of sides are
similar, if their corresponding angles are

............ . (equal, proportional)

7. I THEY B & SF%Al B ST 7 : 3 3, A I

I TS B ST © 1
A) 7 : 43 (B) 7:43
(C©) 7 :3 (D) = § ®IE T

Area of two similar triangles are in the ratio of 7 : 3,
then the ratio of their corresponding sides is :

(A) V7 : 43 B) 7:+3

(©) J7 03 (D) None of these

8. AR & gey RISl & gomel & UK 5: 7 8, A o

BIgtt & &FThal B STI © 1
&) 15:14 (B) 25:49
(C) 49:25 (D) T & Pg e
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If sides of two similar triangles are in the ratio

5 : 7, then areas of their triangles are in the

ratio :
(A) 15:14 (B) 25:49
(C) 49:25 (D) None of these

9. T fg 8 Th g0 W Wl W % THE A HiT
Rl g & &= d g0 25 99 &1 g & Brear 7 &
& & 3l 1

Find the length of tangent drawn from a point
whose distance from the centre of a circle is

25 cm. Given the radius of circle is 7 cm.

10. (1, -3) 3R (4, 1) frgell & = & g8 & @@ 1

Find the distance between the points (1, —3) and
(4, 1).

11. 3@ETS & TG oA S BEs R (4, 5) #R
2, -1) Bl 1

Find the mid point of the line segment whose

end points are (4, 5) and (2, -1).
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tan25°

12. /= % 99 §d Hm 1
cot65°
Find the value of %.
cot65°
13. ZlﬁcotAz%,ﬁfsecA%I 1
17 8
A) — B) —
(A) 3 (B) T
15 "
© - (D) T & Hig -l
8 .
If cotA=—, then sec Ais:
15
17 8
A) — B) —
(A) 3 (B) 17
15
(C) (D) None of these

17

14. 21 I B4l i U 99 & Pou@re & &5%d
FIT, I GUE H HOT 60° Bl 1

Find the area of sector of circle with radius

21 cm, if angle of the sector is 60°.
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15. T 9F b MER B AW 27 & T 36 SR

g T foRi® AR [ 1 i B OSTEAH § 1
() nrl

(B) nrlh

(C) %nrQh

(D) ¥ & FIx Tl

The diameter of the base of right circular cone is
2r and its height h and slant height [ The
volume of the cone is :

(A) nrl
(B) nrh
(C) %nrzh

(D) None of these

16. 0% I & 3 @ g o} 5 @il T &l IR} s e A
q IeRkes MErl S B, @ b A oM Bl e
0 B 7 1

A bag contains 3 red and 5 black balls. If one
ball is taken out at random from the bag. What
is the probability that it will be Red ?
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gue - §
SECTION - B

17. R FIC 6 32 TH IURAT e B 3
Prove that 3\/5 is an irrational number.

18. g plx)=x*-3x2 +4x+5 H TG
g)=x2-x+1 & T UM IO AT AR
SRR IEIRIETE 3
Divide the polynomial p(x)= x*-3x2+4x+5
by the polynomial g(x)= x2-x+1. Find the
quotient and remainder.

19. % del [ AR W 39 @R fom & & & e
Fraam R @R | 2.5 Ho @ g0 W & o1 3T Il
R 4 @ 6 Hlo # HuE W s Th gH a6
Tgadl 1 Hiel B TEE S B 3
A ladder is placed against a wall such that its
foot is at a distance of 2.5 m from the wall and
its top reaches a window 6 m above the ground.
Find the length of the ladder.

20. g HiT 3

tan? + cot? =1+ secBOcosecH
l1-cotf® 1-tanb
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21. T Jq @ R @ ¥ 33.6 99 oftw B g9 @
AABS ST BITSTT| 3
The circumference of a circle exceeds the
diameter by 33.6 cm. Find the area of the circle.

gueg - 9
SECTION-C
22, & HINT : 4
5 .1 _, 6 3
x-1 y-2 x-1 y-2
Solve :
5 .1 _, 6 3 _
x-1 y-2 x-1 y-2

23. TF HieX qe, g Rex o § = 15 i/ gva g,
30 Rl &1 & g 9T SR i 3 H 4 €2 30
fire @ g1 ST @ A ST i 4

4803/(Set : D) P.T.O.
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Prove that :

tan 0 N cot 0
l1-cot6 1-tan9

=1+ secOcosecH
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24.

25.

26.

(12) 4803/(Set : D)

A motor boat whose speed is 15 km/h in still
water goes 30 km downstream and comes back
in a total of 4 hours 30 minutes. Determine the

speed of water.

A% 1, 4,7, 10, ...... 3 b T T o, i S
T 176 8 ? 4

How many terms of sequence 1, 4, 7, 10, ......
should be taken so that their sum is 176 ?

T g @ g9 W A W ot el @ aEd
T B &, fos Ay 4

Prove that the length of tangents drawn from an

external point to a circle are equal.

98 OUM S ag fed Rl A(L, -5) @R
B(-4, 5) @ @AW amr W@Eee x-a9 9 fawifa g
Bl 39 e g & v 9 st 4

Find the ratio in which the line segment joining
the points A(1, -5) and B(-4, 5) is divided by the
x-axis. Also find the coordinates of the point of

division.
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27.

28.

29.

(13) 4803/(Set : D)

52 Ui P T TER | Bel T TF Teel § § Th qa
fepeT ST B W BN @ WIiehar Sd i (i) S
T H 969, (i) T B9 Fe| 4

One card is drawn from a well-shuffled deck of
52 cards. Find the probability of getting (i) a king
of red colour (ii) a face card.

gis - §
SECTION-D

T W Al & wEer 2x? +x-4=0 @
& i1 5

Solve the equation 2x2 +x-4=0 by completing

the square method.

T BT ABC® =T Sl Tl o8 BC = 6 6,
AB =5 &f &R ZABC = 60° ¥ T% d9&y Brgs &
@ BT forge gomd RU g Biys &t @@ ot
# 2 T 5
Construct a triangle ABC whose sides are
BC =6 cm, AB =5 cm and ZABC = 60°. Then

construct a similar triangle whose sides are %th

of corresponding sides of given triangle.

4803/(Set : D) P.T.O.

http://www.bsehonline.com



30.

31.
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Rz i - 5

JM =secA+tanA
1-sinA

Prove that :

1/M =secA+tanA
1-sinA

YT
OR

1.5 1 &1 Th AEH TF foel & 28.5 Hio &l 30 W
B SEE SrEl | o & RmR & IE & 450 B
et @t Sar arEu

A man 1.5 m tall is 28.5 m away from a
chimney. The angle of elevation of the top of the
chimney from his eyes is 45°. What is the height
of chimney ?

GOl 7 A d b HATR &b b HUX T I T
gOT 31 ST 1 SAYHTH A T o Wbl © ! 39
YR S 3 B O SAGA S il 5

A cubical block of side 7 cm is surmounted by a
hemisphere. What is the greatest diameter of the
hemisphere can have ? Find the total surface
area of the solid.
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32. Frfifed ool § wh o & fEmiE & e a9

Tg fear ™ § 5
3 S99 @F [11-13]13-15|15-17|17-19|19-21|21-23|23-25
(B0 )
CEIERIEE] 7 6 9 13 | 20 5 4
qe
T G @ qeal B iEd o9 Y A i)

The following distribution shows the daily pocket
money of children of a school :

Daily Pocket |11-13|13-15|15-17|17-19|19-21|21-23|23-25

money (Rs.)

Number of 7 6 9 13 20 5 4

Children

Find the mean of daily pocket money of children.

STl

OR
T NG H 40 gl H aEar = gl § el & &
TR

wrargar (FBef ®) | 18-27 | 27-36|36-45|45-54| 54-63 | 63-72

gfat g 3 5 10 | 13 5 4
gREt @ AT g S i)
4803/(Set : D) P.T.O.
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in mm and are given in the following table :
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(16)

4803/(Set : D)

The length of 40 leaves of a plant are measured

Length (mm)

18-27

27-36

36-45

45-54

54-63

63-72

Numbers of Leaves

3

5

10

13

5

4

Find the median length of the leaves.
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